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Question No. 1 is compulsory. Attempt any four questions from tha remaining.
All questions carry 20 marks each and sub-questions carry equal marks unless

specified to the contrary.
Werkings to form part of the solutions ard necessary assumptions to be made

»nd stated clearly.

M3, (1)
(@)

(3)

1. The following particulars. are taken from the records of the company engaged in
manufacturing two products, A and B, from a certain material :

(a)

Particulars Product A Product B
x (per unit) (per unit)
Hs. As.
Sales 2,500 5,000
Material cost (Rs. 50 per kg) 500 1,250
Direct labour (30 per hour) 750 1.500
Variable overheads 250 500

Total fixed overheads : Rs. 10,00,000
. Comment on the profitability of each product when :

(i)

Total sales in value is limited;

(i) Raw materials is in short supply.

(i} Production capacity (labour) is the limiting factor,
When total availability of raw materials is 20,000 kg and maximum sales
potential of each product is 1,000 units, find the product mix to yield maximum

profits.

(B

5 Mr. Hakim runs a2 Tempo service inthe town and has three vehicles. He furrishes

you the following data and wants you to compute the cost per running miie :

Vehicle A Vehicle B Vehicle-C
Rs. Rs. ° Rs.
.;ost of vehicle 25,000 15,000 50,000
Road Licanse fee per year 750 750 750
Supervision salary (yearly) 1,800 1,200 1,500
Driver's wage per hour 4 & 2 4
Cost of fuel per litre 1:50 1.50 1.50
Repairs and Maintenance per milg 1.50 2.00 3-00
Tyre cost per mile 1-00 D-80 1-20
[ Garage rent per year 1,500 550 1,000
‘surance Premium yearly B850 500 1,500
E siles run per litre 6 5 4
Mileage run during the year 15,000 6,000 . __B,UDD
Estimated life of vehicles 1,00,000 miles | 75,000 miles 1,20,000 miles

Charge interest at 10% p.a. on the cost of vehicle.

hur

on an average.
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3. In a factory the standard mix consists of 60 kgs of X and 40 kgs of ¥. The standard
loss of production is 30%. The standard price of X is Rs. 5 per kg. and of ¥ Rs. 10
par kg. -
The actual mixture and yield were as [cllows ;

X :— BO kgs at As. 4.50 per kg. Y :— 70 kgs al Rs. 8 per kg. Actual yield :—

115 kgs. '
Calculate :

(a) Material Cost Variance

(b) Material Price Variance

(c) Material revised usage variance

(d) Material Mix Variance, and

() Material Yield Variance.

4. Ashok Ltd is engaged in process industry. During the month of August 2008, 2000
units were introduced in process 'X'. The normal loss was estimated at 5% of input. At
the end of the month 1,400 units had been produced and transferred to process 'Y’,
460 units were incomplete and 140 units, after passing through fully the entire pro- -
cess, had to be scrapped. The incomplete units had reached the following stage of

completion ; ,
Material 5% Completed
Labour 50% Comgpleted
Overhead 50% Completed
Foliowing is the further information on the process ‘X' :=——
Cost of 2000 unils - Rs. 58,000
Additional Direct Materials Rs. 14,400
Direct Labour Rs5:.33 400
Other Overheads Bs. 16,700

‘Units Scrapped Realised Hs. 10 each
Prepare statement of equivalent preduction, compulation oi cost per equivalent unit
for each cost element, statement ol cost apporlionment and process ‘X' account

5. The Jaydeep Co. Ltd., has completed most ol the iunctional budgets and it is now
time to prepare the cash budget. An analysis of the va-ious budgels concerned reveals

the requirements.
Requirements for Cash Budgets

Month Sales Malerials | Wages | Production| Admin | Seclling II:‘.'Iswlhm.h:m Research
[Credit) Exp. Exp. Exp, Exp. and

, | Develop-

u ment Exp.
As. As. " As. As. R, Hs‘_ As. Rs.
Oct. 08 B0 000 ( 40,000 | 10,000 | £8.400 1,400 5,000 3,000 . |1,000
Nowv,, 08 60,000 | 30,000 2,000 8.U00 3,300 4,500 2,500 1,000
Dec, 08 40,000 | 20,000 8,000 7,500 3.500 4,000 2,000 1,000
Jan. 09 50,0001 40,000 9,000 8,000 3,700 4,400 |° 2,400 1,200
Feb. 09 60,000 | 50,000 (10,000 8,500 J3.900 4,600 2,600 1,200
March 09 80,000 | €0.000 | 11,000 9,000 3.600 5,200 2,900 1,200
April 08 70,000 | 50,000 9,000 8,000 3.500 5,000 2,600 1,500
May 09 60,0001 30,000 8,000 7,500 3,700 4,800 2,500 1,500
June 09 50.000 | 40,000 9,000 8,000 3.900 4,500 2,400 1,500

Period of Credit allowed by creditors—2 months
Period of Credit allowed to debtors—3 months
Lag in Payment of overheads—1 month

Lag in Payment of wages 1/8 month

The cash balance on 1st January, 2009 is expected to be Rs, 1,00,000,
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